20104EBF BEFEFER-Fi>E2nsst INXEEE
20104204 H 01 H ~20114£03H 31H

YEIEE FIEENEASEAN -
7 F ® &
(B AU D)
I VN
XA NIN
A=A 22, 000
A=EIPNAFE 22, 000
B
(EPNNEEN=E=X-J'PN 363, 000
ENESBSEIUA 10, 000
(EPN IR =E=S ¢ I'UN 384, 000
SEINGT 757, 000
FEIA
EAMPBUIEENA 5,715, 379
<NEA—FHEE ZFEEHA 898, 075 HRIR T —REFEDN O SZFEH3E
SHEAAFENNA 36, 500
FRRRBHIOA 21, 000
EAINEEUIIWN 1, 085, 892
G-Freel&F@EILA 1, 251, 025
GCRIRE LA 510, 000
ENCEE DT LGN 63, 500
TEE WS AR FEIUA 93, 420
HEINAG 9,674, 791
i Bh B A
ZEHARM A AU 500, 000 E AN D LIEHE)
AN T U %A UN 297, 480 G-Freef& @)
FBh G 797, 480
TN
TN 296, 564
L0EERAT By = 7 MUA 316, 000
TSI AGE 612, 564
HE N
LR 297
HMEUN G 297
REEUILAGFT 11, 864, 132




20104E [ HEEFETHIRIER0L2H INXEHEE

2010404 5 01 B ~20114£03 A 31 H
REIFEFERNIEASEAN

(1)
7 F & &
% S DB
HAEA
LNERNSE/ 2=
EANLLUHEE 5,484, 871
SNKASZFEFERE 661, 931
<NEAFEEE 27,720
FHIR R 13, 800
crbAkkMHame Y EEEl 501,185
BN CBFE SRR 6,689, 507
L PES =S
AEATTE RN E 478, 735
G-FreelHHE & 1,135, 188
GCRAEGHIEEHE 292, 795
TR B TR 8, 340
U PN T R 313, 337
I HIERT| 2, 228, 395
HEHG 8,917, 902
(=3¢
[(Erg] &t 3, 269, 723
[10EFERE S —T 1k E]
[10EERE —T ¢ &) & 95, 574
(104 A EI T — O #E ]
[10fE4aY I - —ORE] 3 77, 240
(L08R A EI T — O #E ]
[0EaRAY I F—ORE] 3 44, 662
A R AR R 15, 625
BB fE B VR 80, 000
EELE G 3, 582, 824
R S A ET 12, 500, 726
NS F= -636, 594
I SRR -636, 594
AN 5 2245 1, 098, 094
DRI 3 7255 461, 500
I SRR 0
YN S 2R 636, 594
1) I AU P AR -636, 594
P H B I B S PR 1, 098, 094
HIRIERM PE A 5148 461, 500




20104E [ HEEFETHIRIER0L2H INXEHEE

2010404 5 01 B ~20114£03 A 31 H
REIFEFERNIEASEAN

(1)
& E & B
B

[EHZ]

Fa kY 2, 260, 500

EERFE 41, 303

fEF A 4, 260

B b 426

HE s 185, 640

B wmE 22, 140

RILT 4T 2w 78, 960

5 ERE 120, 001

HFEME 29, 632

EREE 11, 025

R 10, 971

HE#E 72, 590

FI | B A 19, 449

DHAITE 16, 600

B EE 13,776

MRFEE 240, 000

— 28} 50, 220

PRIBE 40, 430

¢ 34, 360

SCEAFHCR) 9, 240

FHBLATR 8, 200

[Eaige] &t 3, 269, 723
[10E4FERL & S —T ik #r ]

At B A 4 18, 000

A5 R 24, 440

e 28, 883

FIL i A 2 1, 451

=58 22, 800

(L0 A S—T 1« %3] & 95, 574
[10EER &I —OfE]

G o 30, 000

B 40, 000

= b 7,240
(1044t S F—O/R%E] 2t 77, 240
[10/E 4R A —@fkE ]

B 7,220

HAE R 16, 000

e E 588

B EE 2, 000

HE# 1, 500

Il A 2 5, 054

S - 12, 300
1044t S F—ORR] 3 44, 662
A FE R AR B IE 4R 15, 625
ENFBL, FERBUL O EER 80, 000

EEREE 3, 582, 824




